
Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 

 

Complete Spare Parts List of 

Martin Stage Cyclo 

  

90350000 Stage Cyclo 208-250V,50-60Hz 

04500504 Transformator 2x115V/15V,2.4VA 

05020009 Fuse, 2A slow blow 

05030001 Fuse holder PCB 5x20mm , plast 

05031004 Fuseholder chas.4.8mm angle pl 

05222804 Speakon Mains NAC3MPA chas. 

05500002 DIP switch, Piano Type, 10 bit 

06101000 E-ballast, 1x28/54W, T5, DIM Q 

08050703 M3x8 ph torx black 

08052601 M3 nut black 

08054301 M3 washer 3,2/7x0,5 shiny 

08054401 M3 washer lock 3,2/6 black 

23400760 Rubber list MP2/LC/st.cyclo 

62000092 PCBA Cyclo DMX, leaded 

62004608 PCBA 3 pin XLR male/female 

62004609 PCBA 5 pin XLR male/female 

97020006 Osram T5 HO54W/60 (red) 

97020007 Osram T5 HO54W/66 (green) 

97020008 Osram T5 HO54W/67 (blue) 

97020011 Osram T5 FQ54W/865 6500K White 

 

 

Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 


